



SOME IDENTITIES ON CONDITIONAL SEQUENCES BY USING MATRIX METHOD

ELIF TAN AND A. BULENT EKIN

Received 09 September, 2014

Abstract. In this paper, we consider the Fibonacci conditional sequence $\{f_n\}$ and the Lucas conditional sequence $\{l_n\}$. We derive some properties of Fibonacci and Lucas conditional sequences by using the matrix method. Our results are elegant as the results for ordinary Fibonacci and Lucas sequences.

2010 Mathematics Subject Classification: 11B39; 40C05

Keywords: Fibonacci sequence, conditional sequence, matrix method

1. INTRODUCTION

The Fibonacci numbers F_n are the terms of the sequence $0, 1, 1, 2, 3, 5, \dots$, where

$$F_n = F_{n-1} + F_{n-2}, \quad n \geq 2$$

with the initial conditions $F_0 = 0$ and $F_1 = 1$. The sequence L_n of Lucas numbers, which follows the same recursive pattern as the Fibonacci numbers, but begins with $L_0 = 2$ and $L_1 = 1$. These numbers are famous for possessing wonderful properties, see also [5] and [8] for additional references and history.

This sequences has been generalized in various ways. Horadam [3] has considered a generalized sequence $\{W_n\}$ defined by

$$W_n = pW_{n-1} - qW_{n-2}, \quad n \geq 2$$

with the initial conditions $W_0 = a$ and $W_1 = b$, where a, b, p, q are arbitrary integers. If we take $a = 0, b = 1$ in $\{W_n\}$, we get the generalized Fibonacci sequence and if we take $a = 2, b = p$ in $\{W_n\}$, we get the generalized Lucas sequence. In [1], the author use matrix techniques to give proofs of well-known properties of the generalized Fibonacci and Lucas sequences.

This paper is in final form and no version of it will be submitted for publication elsewhere.

In [7], author introduced a new generalization of the Fibonacci sequence $\{f_n\}$, defined by for $n \geq 2$

$$f_n = \begin{cases} a_1 f_{n-1} + b_1 f_{n-2}, & \text{if } n \text{ is even} \\ a_2 f_{n-1} + b_2 f_{n-2}, & \text{if } n \text{ is odd} \end{cases} \quad (1.1)$$

with initial values $f_0 = 0$ and $f_1 = 1$, where a_1, a_2, b_1, b_2 are nonzero numbers. If we take $a_1 = a_2 = b_1 = b_2 = 1$ in $\{f_n\}$, we get the classical Fibonacci sequence. Here we call $\{f_n\}$, the Fibonacci conditional sequence. We can easily define the Lucas conditional sequence $\{l_n\}$ with the initial conditions $l_0 = 2$ and $l_1 = a_2$ similar to (1.1). In [9], in the case of $b_1 = b_2$, the author gave some well known identities for $\{f_n\}$ such as Cassini's, Catalan's identities, etc. Without the case of $b_1 = b_2$, Gelin-Cesaro identity and Catalan identity for the even indices of $\{f_n\}$ are given in [7]. Also, in [4], for the case of $b_1 = b_2 = 1$ author defined a generalization of Lucas sequence and derived several identities involving the generalized Fibonacci and Lucas sequences. All of these proofs are based on the generating function.

In this paper, we take the non-zero numbers a_1, a_2, b_1, b_2 completely arbitrary and we derive some properties of Fibonacci and Lucas conditional sequences by using the matrix method. For Lucas conditional sequences, we just need the case of $b_1 = b_2$. We collect our main results in Theorem 1, 2, 3 and 4 which are elegant as the results for ordinary Fibonacci and Lucas sequences. We also obtain some more new results (4.10)-(4.13) and (4.15).

We need the following results which can be obtained by taking $r = 2$ in [6, Theorem 5,6,9].

For $n \geq 4$,

$$f_n = A f_{n-2} - B f_{n-4} \quad (1.2)$$

where $A := a_1 a_2 + b_1 + b_2$ and $B := b_1 b_2$. The same result for $\{l_n\}$ also holds.

The generating function of the sequence $\{f_n\}$ is

$$F(x) = \frac{x + a_1 x^2 - b_1 x^3}{1 - A x^2 + B x^4} \quad (1.3)$$

and the generating function of the sequence $\{l_n\}$ is

$$L(x) = \frac{2 + a_2 x - (a_1 a_2 + 2b_2)x^2 + b_1 a_2 x^3}{1 - A x^2 + B x^4}. \quad (1.4)$$

By using (1.3) and (1.4), the Binet's formulas for the sequence $\{f_n\}$ and $\{l_n\}$ are given;

$$f_{2m} = a_1 \frac{\alpha^m - \beta^m}{\alpha - \beta} \quad (1.5)$$

$$f_{2m+1} = (a_1 a_2 + b_2) \frac{\alpha^m - \beta^m}{\alpha - \beta} - (b_1 b_2) \frac{\alpha^{m-1} - \beta^{m-1}}{\alpha - \beta} \quad (1.6)$$

$$l_{2m} = (a_1a_2 + 2b_1) \frac{\alpha^m - \beta^m}{\alpha - \beta} - 2(b_1b_2) \frac{\alpha^{m-1} - \beta^{m-1}}{\alpha - \beta} \tag{1.7}$$

$$l_{2m+1} = (a_1a_2^2 + 2b_1a_2 + a_2b_2) \frac{\alpha^m - \beta^m}{\alpha - \beta} - (b_1b_2a_2) \frac{\alpha^{m-1} - \beta^{m-1}}{\alpha - \beta} \tag{1.8}$$

where $\alpha = \frac{A + \sqrt{A^2 - 4B}}{2}$ and $\beta = \frac{A - \sqrt{A^2 - 4B}}{2}$ that is, α and β are the roots of the polynomial $p(z) = z^2 - Az + B$.

2. FIBONACCI CASE

It is known that for the matrix $Q := \begin{pmatrix} 1 & 1 \\ 1 & 0 \end{pmatrix}$, $Q^n = \begin{pmatrix} F_{n+1} & F_n \\ F_n & F_{n-1} \end{pmatrix}$. See [2] for a detailed history of the Q matrix.

Similar to this well-known result, setting $S := \begin{pmatrix} A & -B \\ 1 & 0 \end{pmatrix}$, we also have

$$S^n = \frac{1}{a_1} \begin{pmatrix} f_{2(n+1)} & -Bf_{2n} \\ f_{2n} & -Bf_{2(n-1)} \end{pmatrix} \tag{2.1}$$

which can be easily proven by induction and by the help of (1.2). It should be noted that S is invertible. We use the matrix identity (2.1) to get the following theorem easily.

Theorem 1. *The sequence $\{f_n\}$ satisfy*

$$-a_1^2 B^{m-1} = f_{2(m-1)}f_{2(m+1)} - f_{2m}^2 \tag{2.2}$$

$$a_1 B^m f_{2(n-m)} = f_{2n}f_{2(m+1)} - f_{2m}f_{2(n+1)} \tag{2.3}$$

$$a_1 f_{2n} = f_{2m}f_{2(n-m+1)} - Bf_{2(n-m)}f_{2(m-1)} \tag{2.4}$$

$$a_1 f_{2(n+m+1)} = f_{2(n+1)}f_{2(m+1)} - Bf_{2n}f_{2m} \tag{2.5}$$

$$a_1 f_{2(n+m)} = f_{2(n+1)}f_{2m} - Bf_{2n}f_{2(m-1)} \tag{2.6}$$

$$a_1 f_{2(n+m-1)} = f_{2n}f_{2m} - Bf_{2(n-1)}f_{2(m-1)} \tag{2.7}$$

for any positive integers m and n .

Proof. By taking the determinant of both sides of (2.1), we get the result (2.2) which is *Cassini's identity* for the even indices of the sequence $\{f_n\}$.

Since S is invertible,

$$S^{-n} = \frac{1}{a_1 B^n} \begin{pmatrix} -Bf_{2(n-1)} & Bf_{2n} \\ -f_{2n} & f_{2(n+1)} \end{pmatrix}.$$

Considering $S^{n-m} = S^n S^{-m}$ and by using the matrix identity (2.1), we get;

$$\frac{1}{a_1} \begin{pmatrix} f_{2(n-m+1)} & -Bf_{2(n-m)} \\ f_{2(n-m)} & -Bf_{2(n-m-1)} \end{pmatrix}$$

$$= \frac{-1}{a_1^2 B^{m-1}} \begin{pmatrix} f_{2(n+1)}f_{2(m-1)} - f_{2n}f_{2m} & f_{2n}f_{2(m+1)} - f_{2m}f_{2(n+1)} \\ f_{2(m-1)}f_{2n} - f_{2(n-1)}f_{2m} & f_{2(n-1)}f_{2(m+1)} - f_{2n}f_{2m} \end{pmatrix}$$

and by equating the (1, 2) entries of the matrices on both sides, we get the result (2.3), which corresponds to the *d'Ocagne's identity* for the even indices of $\{f_n\}$.

Also, considering $S^{n-m}S^{m-1} = S^{n-1}$ and by using the matrix identity (2.1), we get;

$$\begin{pmatrix} f_{2(n-m+1)}f_{2m} - Bf_{2(n-m)}f_{2(m-1)} & -Bf_{2(m-1)}f_{2(n-m+1)} + B^2f_{2(n-m)}f_{2(m-2)} \\ f_{2(n-m)}f_{2m} - Bf_{2(n-m-1)}f_{2(m-1)} & -Bf_{2(m-1)}f_{2(n-m)} + B^2f_{2(n-m-1)}f_{2(m-2)} \end{pmatrix} \\ = a_1 \begin{pmatrix} f_{2n} & -Bf_{2(n-1)} \\ f_{2(n-1)} & -Bf_{2(n-2)} \end{pmatrix}.$$

By equating the (1, 1) entries of the matrices on both sides, we get the result (2.4) which corresponds to the *Convolution property* for the even indices of $\{f_n\}$.

Similarly, since $S^{n+m} = S^nS^m$ and by using the matrix identity (2.1), we get the equalities (2.5), (2.6) and (2.7). \square

Special Cases:

(1) If we take $n = m$ in (2.5), we get

$$a_1 f_{2(2n+1)} = f_{2(n+1)}^2 - Bf_{2n}^2. \quad (2.8)$$

(2) If we take $n = m$ in (2.6), we obtain the formula;

$$\begin{aligned} a_1 f_{4n} &= f_{2n}(f_{2(n+1)} - Bf_{2(n-1)}) \\ &= f_{2n}((b_2 - b_1)f_{2n} + a_1 l_{2n}). \end{aligned} \quad (2.9)$$

Note that for $2n = m$, if we take $a_1 = a_2 = b_1 = b_2 = 1$ in (2.9), it reduces to the well-known identity;

$$F_{2m} = F_m L_m.$$

We can get the Binet formula for the even indices of $\{f_n\}$ by using matrix method. For this, we assume $A^2 - 4B \neq 0$ to guarantee the existence of two distinct roots. Let α and β denote the roots of $p(z) = z^2 - Az + B$ that is the characteristic polynomial of S .

Theorem 2. *The Binet formula of $\{f_{2n}\}$ is*

$$f_{2n} = a_1 \frac{\alpha^n - \beta^n}{\alpha - \beta}.$$

Proof. The eigenvalues and corresponding eigenvectors of the matrix S are $\lambda_1 = \alpha$, $\lambda_2 = \beta$ and $v_1 = \begin{pmatrix} \alpha \\ 1 \end{pmatrix}$, $v_2 = \begin{pmatrix} \beta \\ 1 \end{pmatrix}$. Therefore; $P^{-1}SP = \begin{pmatrix} \alpha & 0 \\ 0 & \beta \end{pmatrix}$ where $P = \begin{pmatrix} \alpha & \beta \\ 1 & 1 \end{pmatrix}$. It follows $S^n = P \begin{pmatrix} \alpha^n & 0 \\ 0 & \beta^n \end{pmatrix} P^{-1}$. By equating corresponding

entries of the matrices on both sides and by using the matrix identity (2.1), we obtain the result. \square

3. LUCAS CASE

In this section, let $b_1 = b_2$. We also have a similar matrix identity for the conditional Lucas sequences $\{l_n\}$. Similar to the well-known result,

$$\begin{pmatrix} L_{n+1} & L_n \\ L_n & L_{n-1} \end{pmatrix} = \begin{pmatrix} 1 & 2 \\ 2 & -1 \end{pmatrix} \begin{pmatrix} 1 & 1 \\ 1 & 0 \end{pmatrix}^n$$

we also have

$$\begin{pmatrix} l_{2(n+1)} & -Bl_{2n} \\ l_{2n} & -Bl_{2(n-1)} \end{pmatrix} = \begin{pmatrix} A & -2B \\ 2 & -A \end{pmatrix} \begin{pmatrix} A & -B \\ 1 & 0 \end{pmatrix}^n \tag{3.1}$$

which can be easily proven by induction and by the help of (1.2).

Theorem 3. *The sequence $\{l_n\}$ satisfy*

$$l_{2(n-1)}l_{2(n+1)} - l_{2n}^2 = B^{n-1}(\alpha - \beta)^2$$

for any positive integer n .

Proof. By taking the determinant of both sides of (3.1), we get

$$(l_{2(n-1)}l_{2(n+1)} - l_{2n}^2) = B^{n-1}(A^2 - 4B)$$

and since $A^2 - 4B = (\alpha - \beta)^2$, we get the result which is Cassini's identity for even indices of $\{l_n\}$. \square

4. FIBONACCI-LUCAS CASE

Here, we also assume that $b_1 = b_2$ and $\Delta := A^2 - 4B \neq 0$. We can also use matrix techniques to prove some relations between the $\{f_n\}$ and $\{l_n\}$.

It is known that for the matrix $R := \frac{1}{2} \begin{pmatrix} 1 & 5 \\ 1 & 1 \end{pmatrix}$, $R^n = \frac{1}{2} \begin{pmatrix} L_n & 5F_n \\ F_n & L_n \end{pmatrix}$.

Similar to this well-known result, setting $T := \frac{1}{2} \begin{pmatrix} A & \Delta \\ 1 & A \end{pmatrix}$, we also have

$$T^n = \frac{1}{2} \begin{pmatrix} l_{2n} & \Delta \frac{f_{2n}}{a_1} \\ \frac{f_{2n}}{a_1} & l_{2n} \end{pmatrix} \tag{4.1}$$

which can be easily proven by induction and by the help of (1.5) and (1.7).

Theorem 4. *The sequences $\{f_n\}$ and $\{l_n\}$ satisfy*

$$4B^n = l_{2n}^2 - \frac{\Delta}{a_1^2} f_{2n}^2 \tag{4.2}$$

$$2f_{2(m+n)} = f_{2m}l_{2n} + f_{2n}l_{2m} \tag{4.3}$$

$$2l_{2(m+n)} = l_{2m}l_{2n} + \frac{\Delta}{a_1^2} f_{2n} f_{2m} \quad (4.4)$$

$$2B^m f_{2(n-m)} = f_{2n}l_{2m} - l_{2n} f_{2m} \quad (4.5)$$

$$2B^m l_{2(n-m)} = l_{2n}l_{2m} - \frac{\Delta}{a_1^2} f_{2n} f_{2m} \quad (4.6)$$

$$l_{2n}l_{2m} = l_{2(n+m)} + B^m l_{2(n-m)} \quad (4.7)$$

$$f_{2n}l_{2m} = f_{2(n+m)} + B^m f_{2(n-m)} \quad (4.8)$$

for any positive integers m and n .

Proof. By taking the determinant of both sides of (4.1), we get the result (4.2). Considering $T^{n+m} = T^n T^m$ and by using the matrix identity (4.1), we get;

$$\begin{aligned} & \frac{1}{2} \begin{pmatrix} l_{2(n+m)} & \frac{\Delta}{a_1} f_{2(n+m)} \\ \frac{f_{2(n+m)}}{a_1} & l_{2(n+m)} \end{pmatrix} \\ &= \frac{1}{4} \begin{pmatrix} l_{2n}l_{2m} + \frac{\Delta}{a_1^2} f_{2n} f_{2m} & \frac{\Delta}{a_1} (f_{2m}l_{2n} + f_{2n}l_{2m}) \\ \frac{1}{a_1} (f_{2n}l_{2m} + f_{2m}l_{2n}) & \frac{\Delta}{a_1^2} f_{2m} f_{2n} + l_{2n}l_{2m} \end{pmatrix}. \end{aligned}$$

By equating the corresponding entries of the matrices on both sides, we get the identities (4.3) and (4.4).

Similarly, considering $T^{n-m} = T^n T^{-m} = T^n (T^m)^{-1}$ and by using the matrix identity (4.1), we get;

$$\begin{aligned} & \frac{1}{2} \begin{pmatrix} l_{2(n-m)} & \frac{\Delta}{a_1} f_{2(n-m)} \\ \frac{1}{a_1} f_{2(n-m)} & l_{2(n-m)} \end{pmatrix} \\ &= \frac{1}{4B^m} \begin{pmatrix} l_{2n}l_{2m} - \frac{\Delta}{a_1^2} f_{2n} f_{2m} & \frac{-\Delta}{a_1} (l_{2n} f_{2m} - f_{2n}l_{2m}) \\ \frac{-1}{a_1} (l_{2n} f_{2m} - f_{2n}l_{2m}) & l_{2n}l_{2m} - \frac{\Delta}{a_1^2} f_{2n} f_{2m} \end{pmatrix} \end{aligned}$$

By equating the corresponding entries of the matrices on both sides, we get the results (4.5) and (4.6).

Finally, consider the equation

$$T^{n+m} + B^m T^{n-m} = T^n T^m + B^m T^n (T^m)^{-1}$$

then we get (4.7) and (4.8). \square

Up to now, we only consider the even indices of the conditional sequences. Now, we develop another matrix identity for both even and odd indices of Fibonacci and Lucas conditional sequences.

We know that there is a relation between continued fractions and 2×2 matrices. By considering this relation and setting

$$C := \begin{pmatrix} a_2 & b_2 \\ 1 & 0 \end{pmatrix} \begin{pmatrix} a_1 & b_1 \\ 1 & 0 \end{pmatrix} = \begin{pmatrix} a_1 a_2 + b_2 & a_2 b_1 \\ a_1 & b_1 \end{pmatrix}$$

then we have

$$C^n = \begin{pmatrix} f_{2n+1} & \frac{a_2 b_1}{a_1} f_{2n} \\ f_{2n} & \frac{b_1}{a_1} (f_{2n} - b_2 f_{2(n-1)}) \end{pmatrix} \tag{4.9}$$

by induction and also by the help of (1.1) and (1.2).

We can get the Binet formula for odd and even indices of $\{f_n\}$ by using this matrix identity. For this, again we assume $A^2 - 4B \neq 0$ to guarantee the existence of two distinct roots. Let α and β denote the roots of $p(z) = z^2 - Az + B$ that is the characteristic polynomial of C . The eigenvalues and corresponding eigenvectors of the matrix C are $\lambda_1 = \alpha$, $\lambda_2 = \beta$ and $v_1 = \begin{pmatrix} \frac{\alpha - b_1}{a_1} \\ 1 \end{pmatrix}$, $v_2 = \begin{pmatrix} \frac{\beta - b_1}{a_1} \\ 1 \end{pmatrix}$. Therefore; $P^{-1}CP = \begin{pmatrix} \alpha & 0 \\ 0 & \beta \end{pmatrix}$ where $P = \begin{pmatrix} \frac{\alpha - b_1}{a_1} & \frac{\beta - b_1}{a_1} \\ 1 & 1 \end{pmatrix}$. It follows $C^n = P \begin{pmatrix} \alpha^n & 0 \\ 0 & \beta^n \end{pmatrix} P^{-1}$. By equating (1,1) and (2,1) entries of the matrices on both sides, we obtain the Binet formula for odd and even indices of $\{f_n\}$.

By taking the determinat of both sides of (4.9), we get

$$\frac{b_1}{a_1} (f_{2n+1} [f_{2n} - b_2 f_{2(n-1)}] - a_2 f_{2n}^2) = B^n. \tag{4.10}$$

For $a_1 = a_2 = b_1 = b_2 = 1$ and $2n = m$; the above result reduces to the Cassini's identity for the ordinary Fibonacci sequence:

$$F_{m+1} F_{m-1} - F_m^2 = (-1)^m.$$

By using the matrix identity (4.9), if we consider $C^{n-m} = C^n C^{-m}$ and equating the corresponding entries of the matrices on both sides, we get the formula;

$$B^m f_{2(n-m)} = f_{2n} f_{2m+1} - f_{2m} f_{2n+1}. \tag{4.11}$$

For $a_1 = a_2 = b_1 = b_2 = 1$ and $2n = r$, $2m = s$; the above result reduces to the d'Ocagne's identity for the ordinary Fibonacci sequence:

$$(-1)^s F_{r-s} = F_r F_{s+1} - F_s F_{r+1}.$$

And if we consider $C^{n+m} = C^n C^m$ and equating the corresponding entries of the matrices on both sides, we get the formulas;

$$f_{2(n+m)} = f_{2n} f_{2m+1} + f_{2m} \left(\frac{b_1}{a_1} f_{2n} - \frac{B}{a_1} f_{2(n-1)} \right) \tag{4.12}$$

$$f_{2(n+m)+1} = f_{2n+1} f_{2m+1} + \frac{a_2 b_1}{a_1} f_{2n} f_{2m}. \tag{4.13}$$

For $a_1 = a_2 = b_1 = b_2 = 1$ and $2n = r$, $2m = s$; the above results reduce to the following well-known results

$$\begin{aligned} F_{r+s} &= F_r F_{s+1} + F_s F_{r-1} \\ F_{r+s+1} &= F_{r+1} F_{s+1} + F_r F_s. \end{aligned}$$

We also have a similar matrix identity for both even and odd indices of $\{l_n\}$. For this, assume that $b_1 = b_2$. By induction and by the help of (1.1) and (1.2), we have

$$\begin{pmatrix} a_2 & 2\frac{a_2 b_1}{a_1} \\ 2 & -a_2 \end{pmatrix} \begin{pmatrix} a_1 a_2 + b_2 & a_2 b_1 \\ a_1 & b_1 \end{pmatrix}^n = \begin{pmatrix} l_{2n+1} & \frac{a_2 b_1}{a_1} l_{2n} \\ l_{2n} & \frac{b_1}{a_1} (l_{2n} - b_1 l_{2(n-1)}) \end{pmatrix} \quad (4.14)$$

and by taking the determinat of both sides of (4.14), we get

$$a_1 b_1 (l_{2n+1} [l_{2n} - b_1 l_{2(n-1)}] - a_2 l_{2n}^2) = -(\alpha - \beta)^2 B^n. \quad (4.15)$$

If we take $a_1 = a_2 = b_1 = b_2 = 1$ and $2n = m$ in (4.15), it reduces to the well-known identity for Lucas numbers:

$$L_{m+1} L_{m-1} - L_m^2 = (-1)^{m+1} 5.$$

5. ACKNOWLEDGEMENT

We thank the referee for helpful suggestions and comments.

REFERENCES

- [1] G. Cerda-Morales, "On generalized Fibonacci and Lucas numbers by matrix methods." *Hacet. J. Math. Stat.*, vol. 42, no. 2, pp. 173–179, 2013.
- [2] H. W. Gould, "A history of the Fibonacci Q-matrix and a higher-dimensional problem." *Fibonacci Q.*, vol. 19, pp. 250–257, 1981.
- [3] A. F. Horadam, "A generalized Fibonacci sequence," *Amer. Math. Monthly*, vol. 68, no. 5, pp. 455–459, 1961, doi: [10.2307/2311099](https://doi.org/10.2307/2311099).
- [4] N. Irmak and M. Alp, "Some identities for generalized Fibonacci and Lucas Sequences," *Hacet. J. Math. Stat.*, vol. 42, no. 4, pp. 331–338, 2013.
- [5] T. Koshy, *Fibonacci and Lucas numbers with applications (to appear)*. 2nd edition., 2nd ed. Hoboken, NJ: John Wiley & Sons, 2017.
- [6] D. Panario, M. Sahin, and Q. Wang, "A family of Fibonacci-like conditional sequences." *Integers*, vol. 13, pp. paper a78, 14, 2013.
- [7] M. Sahin, "The Gelin-Cesàro identity in some conditional sequences." *Hacet. J. Math. Stat.*, vol. 40, no. 6, pp. 855–861, 2011.
- [8] S. Vajda, *Fibonacci & Lucas Numbers and The Golden Section, Theory and Applications*. Chichester: Chichester: Ellis Horwood Ltd.; New York etc.: Halsted Press, 1989.
- [9] O. Yayenie, "A note on generalized Fibonacci sequences," *Applied Math. Comp.*, vol. 217, no. 12, pp. 5603–5611, 2011, doi: [10.1016/j.amc.2010.12.038](https://doi.org/10.1016/j.amc.2010.12.038).

*Authors' addresses***Elif Tan**

Department of Mathematics, Ankara University, Ankara, Turkey

E-mail address: etan@ankara.edu.tr

A. Bulent Ekin

Department of Mathematics, Ankara University, Ankara, Turkey

E-mail address: ekin@science.ankara.edu.tr